Multiplication : PROOF
It’s called proof by 9 because we use numbers < 9 (or the remainders of the terms <9) 

In the cross, you must reduce each value to a single digit 
                                      ( You can never write a number bigger than 9

Example :

  


                      4 5 8

                           x   3 7

1. At the top : Add the digits of the first term (  4+5+8 = 17 (= 9+8 )
                                                                        reduce ( 1+7 = 8
2. At the bottom : Add the digits of the multiplier (  3+7 = 10 (= 9+1)

                                                                                            reduce ( 1+0 = 1
3. On one side : Multiply the top and bottom number ( 8 x 1 = 8 
                                                                                                                     reduce if you have 2 digits
4. On the other side : Add the digits of your result (product) ( ……………………………….
                                                                                                                            reduce ( …………………….

IF YOUR ANSWER IS CORRECT, YOU MUST HAVE THE SAME NUMBERS ON BOTH SIDES
Add the digits of the first term 

(  … + … + … = ……    (= 9+… )
                                                        reduce ( … + … =  …


Multiply the top 

and bottom number                                                                                                                                   

               ( … x … =  …                                                                                                            
 (if necessary) reduce ( … + … =  …      
   Write (or add up) the multiplier (  … 

                                                                                 reduce if necessary
You must know your times tables!!





Add up the digits of your result (product):





( … + … + … + … = …..





                     reduce ( … + … =  …    





Calculation








